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| 2020FL2A | HERM | | FEEM| g (202012 RN | SRR
A Laﬁg iji; %) Tlf %) H L(;?n)m = T?mf (%) E‘?j %)
M) 0 12 (~100) 17 (-100) 1636 1459 (12) 1542 (6)
JHI] 0 7 (-100) 3 (~100) 1631 1376 (19) 1575 (4)
Y& 1 16 (-94) 14 (-93) 1970 1644 (20) 1584 (24)
HF HI 0 12 (~100) 29 (~100) 1984 1688 (18) 1943 (2)
@M 0 15 (-100) 10 (~100) 1593 1445 (10) 1501 (6)
T 4 18 (-78) 13 (-69) 1908 1749 9) 1592 (20)
VM) 0 12 (~100) 4 (~100) 1973 1641 (20) 1461 (35)
ER2 6 15 (-60) 20 (-70) 1951 1697 (15) 1669 (17)
=] 4 12 (-67) 12 (-67) 1691 1646 (3) 1522 (11)
EaE) 2 14 (-86) 14 (-86) 1828 1618 (13) 1583 (15)
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BRESHT (202441 5-12H LA)
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1 jEiet LA 200. 11 156. 69 (28) 125. 81 (59)
2 R HH 157. 37 144. 75(9) 109. 34 (44)
3 VAL S Wi 81. 59 91. 36 (-11) 59.90(36)
4 EpAN il 568. 04 536. 79 (6) 400. 67 (42)
5 BT R 49. 25 48. 83 (1) 43.59(13)
6 | JUEILVPIIR K 40. 93 36.96(11) 26. 39 (55)
7| JuliLdBR T 85. 83 80.12(7) 57.91(48)
8 JTIL E# 60. 47 50.01(21) 37.52(61)
9 s =k 42. 08 41.70(1) 26.29(60)
10 P Nt WiiZ 11.59 10. 17 (14) 11. 06 (5)

(4)-(10) &it 858. 17 804. 59 (7) 603. 44 (42)
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AR AR K SR BRI o O 2024 £ 12 J 11 H 8 I}
KRB | &840 83 72 (11) 82 (1)
LBG 67 60 (7) 62 (5)
A 68 65 (3) 65 (3)
E1] 62 44 (18) 57 (5)
T 67 59 (8) 55 (112)
i H 73 57 (116 ) 65 (8)
kit
M 64 58 (6) 58 (6 )
VM 7 51 (126) 73 (4)
Y% 65 64 (1) 68 (-3 )
=l 71 69 (2) 69 (2)
[ERE 62 65 (-3) 62 (0)




